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Practice with Transitions (Sample Answers) 

Use transition words to link these sentences into a well-connected paragraph. Don’t change 
the order of the sentences, but combine sentences if you like. When finished, compare your 
response to the sample answer. 

Sentences: 

Apple provides a more versatile operating system than Windows. 

Versatile means user-friendly. 

These devices must be easy to use as all segments of the population are using them now. 

The Apple system is truly plug and play. 

The Windows system requires more user customization. 

A mobile device must be easy to use for both work and entertainment. 

Video entertainment is much easier to play on Apple than Windows systems. 
Sample answer: 

Here is a sample answer, but remember there are many ways to link these sentences 
together. 

Apple provides a more versatile operating system than Windows. Versatile means user-
friendly. First, these devices must be easy to use as all segments of the population are using 
them now. For example, while the Apple system is truly plug and play, the Windows system 
requires more user customization. Second, a mobile device must be easy to use for both work 
and entertainment. Video entertainment, for example, is much easier to play on Apple than 
Windows systems.  


